
CUSTOMER SERVICE
877.370.3604 (toll free)

INSTALLATION QUESTIONS
techsupport@kuryakyn.com

or call 715.247.2983

LIMITED WARRANTY
Küryakyn warrants that any Küryakyn products sold 

hereunder, shall be free of defects in materials and 
workmanship for a period of one (1) year from the 

date of purchase by the consumer excepting the fol-
lowing provisions:

 
• Küryakyn shall have no obligation in the event 

the customer is unable to provide a receipt showing 
the date the customer purchased the product(s). 

• The product must be properly installed, 
maintained and operated under normal conditions. 

• Küryakyn makes no warranty, expressed or 
implied, with respect to any gold plated products. 

• Küryakyn shall not be liable for any consequential 
and incidental damages, including labor and 

paint, resulting from failure of a Küryakyn product, 
failure to deliver, delay in delivery, delivery in noncon-

forming condition, or for any breech of contract or 
duty between Küryakyn and a customer.  

• Küryakyn products are often intended for use 
in specific applications. Küryakyn makes no 

warranty if a Küryakyn product is used in 
applications other than intended. 

• Küryakyn electrical products are warranted for one 
(1) year from the date of purchase by the consumer. 
Components of Küryakyn products containing L.E.D.s 

will be warranted for defects in materials and 
workmanship for 3 years from the date of purchase. 

• Küryakyn makes no warranty of any kind in regard 
to other manufacturer’s products distributed by 

Küryakyn. Küryakyn will pass on all warranties made 
by the manufacturer and where possible, will expedite 

the claim on behalf of the customer, 
but ultimately, responsibility for disposition of the 

warranty claim lies with the manufacturer. 

ABOUT OUR CATALOG
You’ll find all our innovations for H-D, GL and 

Metric Cruisers in our annual catalogs. Order online 
today–select the ”CATALOGS” icon. Each Küryakyn® 
product comes with a Proof-of-Purchase good for a 

complimentary catalog. Details in packaging.

Be sure to ask your local dealer about other 
Küryakyn products, the motorcycle parts and ac-

cessories designed for riders by riders.

©2005 Küryakyn USA®  All Rights reserved.

INSTALLATION

Parts Included
		  1	 Transmission, Oil Line Shroud
		  1	 Hardware Kit Including:
			   1	 1/4”–20 x 5/8” Socket Head Cap Screw — Chrome
			   1	 1/4”–20 x 1-3/4” Socket Head Cap Screw — Chrome
			   2	 .267 x .423 x .008 Wave Washer
			   2	 .250 x .428 x .062 Flat Washer — Chrome 
			   2	 1/4” Hot Spot — Chrome
			   1	 10–24 x 3/8” Socket Head Cap Screw — Chrome
			   1	 #10 Stainless Steel Wave Washer
			   1	 .207 x .288 X .045 Flat Washer
			   1	 1-1/8” Long Stand-off Stud
			   1	 1/4”–20 x 1-7/8” Long Stand-off Stud
			   1	 10–24 x 3/8” Button Head Cap Screw — Chrome
			   1	 #10 External Tooth Lock Washer
		  1	 Installation Instruction

Please read and understand entire instructions before starting installation.

Thank you for choosing Küryakyn!

In order to protect you and others from possible injury and/
or property damage or loss, please pay close attention to all 
instructions, warnings, cautions and attention notes regarding 
the use and care of this product.

WARNING!	 THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE 
CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR 
SERIOUS INJURY.

CAUTION!	 This indication alerts you to the fact that ignoring the contents described herein 
can result in potential injury or material damage.

ATTENTION!	This indication alerts you to the fact that ignoring the contents described herein 
may negatively affect product performance and functionality.

Tools Suggested
A Set of Standard Allen Wrenches, Torque Wrench and a 7/16” Open-end Wrench

Strictly observe the following guidelines in order to use the 
product properly and avoid potentially dangerous accidents.

-cont.-

Fits: all 99-’05 dyna models

8208-12HD-0607

t r a n s m i s s i o n / o i l  l i n e  c o v e r 	  8 2 0 8



INSTALLATION

Procedure
STEP 1	 Remove the stock oil line cover by removing the two fasteners labeled A and B in PIC.1.

STEP 2	 Install the larger of the two Stand-off Studs where fastener B was 
previously installed being careful not to over-tighten the Stand-off Stud.

STEP 3	 Remove the OEM socket head cap screw from the electronic 
speedometer sensor shown in PIC.2. Replace this fastener with the smaller Stand-
off Stud being careful not to over tighten. 

STEP 4	 Remove the OEM fastener from the transmission trap door located 
directly in line with the transmission dipstick labeled as C in PIC.1. 

STEP 5	Op tional step. Remove the OEM wiring harness hanger from the 
OEM oil line cover and secure it to the webbed boss on the back side of the new 
Transmission/oil Line Cover using the supplied 10–24 x 3/8” Button Head Cap 
Screw and the # 10 External Tooth Lock Washer.

STEP 6	 Slip the cover into place. The lower portion of the Transmission/oil Line Cover will 
go behind the clutch cable. These are close quarters so it may take more than one attempt to 
maneuver the cover into position. The cover will NOT require any bending or twisting to get it 
in place.

STEP 7	 Loosely install the supplied 1/4”–20 X 5/8” Socket Head Cap Screw, Wave Washer 
(.267 x .423 x .008) and Flat Washer (.250 x .428 x .062), in the front of the cover.

STEP 8	 Loosely install the supplied 10–24 x 3/8” Socket Head Cap Screw, #10 Stainless 
Steel Wave Washer and Flat Washer (.207 x .288 x .045) in the rear of the cover at the 
electronic speedometer sensor.

STEP 9	 Loosely install the supplied 1/4”–20 x 1-3/4”” Socket Head Cap Screw, Wave Washer (.267 x 
.423 x .008) and Flat Washer (.250 x .428 x .062), in the hole in the middle of the cover.

STEP 10	Once all three fasteners are loosely installed, go back and tighten the middle fastener to 7–9 
foot-pounds and the front and rear fasteners snugly. DO NOT over-tighten the front and rear fasteners.

STEP 11	Push the supplied Hot Spots into the two 1/4” Socket Head Cap Screws visible on the face of 
the cover.

STEP 12	If you opted to re-install the OEM wiring harness hanger in STEP 5, lift the wiring harness into 
the hanger using a screwdriver or similar length tool from underneath the motorcycle.

Ride On!

Page

2
transmission/oil line cover INSTALLATION

PIC.1

PIC.2


